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I BATTE A B AR m] Y A

Y, =10+5X; —0.1X2? +u,;, wu; ~N(0,1), X, ~ Unif(0,10)

FHAR AT A i — AR A RO 200 ARERLREAR
ERAE IO tidyverse AL,
library(tidyverse)

A

# RAARE

n <- 200

#ER X F1ou



2 — AT p

<- runif(n, 0, 10)

]

<- rnorm(n)

[=1

*

B Y
y <-10 + 5 *x - 0.1 * x72 +u

# R HAE

sim_data <- tibble(y, x)

K AR 2 A7 IR A A A

# B sim data WK

sim_data

## # A tibble: 200 x 2

#i# y X
## <dbl> <dbl>
# 1 22.8 2.32
# 2 44.2 8.12
# 3 19.0 1.85
## 4 15.4 1.22
# 5 40.3 7.12
## 6 49.2 9.57
# 7 34.2 5.51
## 8 32.8 5.11
# 9 30.7 4.55
## 10 19.8 2.18

## # i 190 more rows

# il glimpse() ®¥ T ## sim_data FHELE
glimpse(sim_data)

## Rows: 200
## Columns: 2
## $ y <dbl> 22.83398, 44.18717, 19.04913, 15.35077, 40.30678, 49.20174, 34.18298~
## $ x <dbl> 2.31893465, 8.12139199, 1.84864238, 1.22276813, 7.11812395, 9.570762~

# 2l R A
ggplot(sim_data, aes(x, y)) +
geom_point ()
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linearfit <- 1lm(y ~ x, data = sim_data)
summary (linearfit) # TEHINELER
##
## Call:
## lm(formula = y ~ x, data = sim_data)
##
## Residuals:
## Min 1Q Median 3Q Max
## -3.3320 -0.8522 0.0214 1.0081 3.3102
##
## Coefficients:
## Estimate Std. Error t value Pr(>|tl|)
## (Intercept) 11.67644 0.19158 60.95 <2e-16 **x*
# x 4.00668 0.03248 123.34 <2e-16 **x
## -—-
## Signif. codes: O '*¥x' 0.001 'xx' 0.01 'x' 0.06 '.' 0.1 '
##
## Residual standard error: 1.307 on 198 degrees of freedom
## Multiple R-squared: 0.9872, Adjusted R-squared: 0.9871
## F-statistic: 1.521e+04 on 1 and 198 DF, p-value: < 2.2e-16
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# EHRE T A &
ggplot(sim_data, aes(x, y)) +
geom_point () +

geom_abline(

intercept = coef(linearfit)[1], slope = coef(linearfit)[2],

color = "blue", linewidth = 1
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X

# S HFF geom_smooth () VjmARE WAt &
ggplot(sim_data, aes(x, y)) +
geom_point () +

geom_smooth(method = "1m")

## “geom_smooth()~ using formula = 'y ~ x'
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linearfit2 <- 1lm(y ~ x + I(x72), data = sim_data) # & & W& Ir =K
summary (linearfit2) # TEHMW A LR

##
##
##
##
##
##
##
##
##
##
##
##
##
##
##
##
##
##

Call:
Im(formula = y ~ x + I(x72), data = sim_data)
Residuals:

Min 1Q Median 3Q Max
-3.0772 -0.6275 0.0476 0.7405 2.6265
Coefficients:

Estimate Std. Error t value Pr(>lt|)

(Intercept) 9.800545 0.225427 43.48 <2e-16 **x

X 5.091714 0.100461 50.68 <2e-16 ***

I(x"2) -0.107219  0.009602 -11.17 <2e-16 **x*

Signif. codes: O '*¥x' 0.001 '#x' 0.01 'x' 0.05 '.' 0.1 ' ' 1
Residual standard error: 1.026 on 197 degrees of freedom

Multiple R-squared: 0.9921, Adjusted R-squared: 0.9921
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F-statistic: 1.242e+04 on 2 and 197 DF, p-value: < 2.2e-16

RREEF A geom_smooth() Aimilé W 4

ggplot(sim_data, aes(x, y)) +

>

geom_point() +

geom_smooth(method = "1m", formula = "y ~ x + I(x"2)")
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linearfit3 <- 1m(y ~ x + I(x72) + I(x73), data = sim_data)

summary (linearfit3)

##
##
##
##
##
##
##
##
##
##
##
##
##

Call:
Im(formula = y ~ x + I(x72) + I(x73), data = sim_data)
Residuals:

Min 1Q Median 3Q Max
-3.08728 -0.63238 0.05184 0.74926 2.63644
Coefficients:

Estimate Std. Error t value Pr(>ltl)

(Intercept) 9.7675410 0.3092059 31.589 <2e-16 *xx*x*

X 5.1300475 0.2649990 19.359 <2e-16 *xx
I(x"2) -0.1165579 0.0604890 -1.927 0.0554 .

10.0
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## I(x"3) 0.0006109 0.0039063 0.156 0.8759

## ——-

## Signif. codes: O 'x*xx' 0.001 'xx' 0.01 'x' 0.05 '.' 0.1 ' ' 1
##

## Residual standard error: 1.028 on 196 degrees of freedom
## Multiple R-squared: 0.9921, Adjusted R-squared: 0.992
## F-statistic: 8239 on 3 and 196 DF, p-value: < 2.2e-16

ggplot(sim_data, aes(x, y)) +
geom_point () +

geom_smooth(method = "lm", formula = "y ~ x + I(x72) + I(x73)")
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function_name <- function(arguments) {

body
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sim_lm <- function(parameters = c(10, 5, -0.1), n = 200) {
# AR X f1ou
x <- runif(an, 0, 10)

u <- rnorm(n)

# R Y

y <- parameters[l] + parameters[2] * x + parameters[3] * x"2 + u

# BT HE
return(tibble(y, x))

X —BUEAE LR sin_1mO) o BHWNSE, B—DSEUE parameters, PIIREREN (10,
5, -0.1). BN SHEONFEAR n, FIIREAEN 200,
W FH R AL

sim_data2 <- sim_1m() # T EX S K WHE
Im(y ~ x + I(x72), data = sim_data2) |> summary()

##

## Call:

## lm(formula = y ~ x + I(x72), data = sim_data2)

##

## Residuals:

## Min 1Q Median 3Q Max

## -2.1187 -0.6687 -0.0726 0.7125 2.2896

##

## Coefficients:

## Estimate Std. Error t value Pr(>ltl)

## (Intercept) 10.526961 0.197483 53.306 <2e-16 *xx*
## x 4.827138 0.092656 52.097 <2e-16 **x
# I(x"2) -0.084966 0.008937 -9.507 <2e-16 **x*
## ——-

## Signif. codes: O 'x*xx' 0.001 '*xx' 0.01 'x' 0.05 '.' 0.1 ' ' 1
##

## Residual standard error: 0.9176 on 197 degrees of freedom
## Multiple R-squared: 0.994, Adjusted R-squared: 0.9939
## F-statistic: 1.619e+04 on 2 and 197 DF, p-value: < 2.2e-16

sim_data3 <- sim_lm(parameters = c(1, 2, 1), n = 500) # f§E#H 5%

glimpse(sim_data3)

## Rows: 500
## Columns: 2
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## $ y <dbl> 30.551280, 28.078999, 68.187632, 0.208074, 70.765768, 10.959741, 6.3~
## $ x <dbl> 4.6130804, 4.3574142, 7.3185338, 0.2583617, 7.3948667, 2.0689049, 1.~

ggplot(sim_data3, aes(x, y)) +
geom_point ()
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